DAV PUBLIC / MODEL SCHOOLS, WEST BENGAL ZONE
ONLINE MID TERM PEN PAPER ASSESSMENT
SESSION 2020 - 21
PAPER -1

CLASS : X MAXIMUM MARKS : 35
SUBJECT : MATHEMATICS TIME : 1% HOURS

=

10.

11.

SECTION - A
Find the HCF of 336 and 54 by prime factorization method.
If « and f are the zeroes of the polynomial f(x) = x? — 5x + k such that
a — B =1, find the value of k.
If one of the root of the quadratic equation 2x2 + kx — 6 = 0 is 2, find the value of k. Also , find
the other root.
OR
Find the value of k for which the quadratic equation (k + 4)x? + (k + 1)x + 1 = 0 has equal
roots.
SECTION-B
The sum of two digit number and the number formed by interchanging its digits is 110. If 10 is
subtracted from the first number, the new number is 4 more than 5 times the sum of the digits in
the first number . Find the number.
OR
The area of a rectangle gets reduced by 9 square units if its length is reduced by 5 units and breadth
is increased by 3 units. If we increase the length by 3 units and breadth by 2 units, the area is

increased by 67 square units. Find the length and breadth of the rectangle.

Solve the quadratic equation by factorization method: — -t x—“ ; x#+0,x+-1.

The radii of two concentric circles are 13 cmand 8 cm . AB is the diameter of the bigger circle.BD
is a tangent to the smaller circle touching it at D.Find the length AD.
SECTION-C

In a seminar, the number of participants in Hindi, English and Mathematics are 60, 84 and 108
respectively. Find the minimum number of rooms required if in each room the same number of
participants are to be seated and all of them being in the same subject.
Find the zeroes of the polynomial f(x) = x3 — 5x% — 16x + 80 , if its two zeroes are equal in
magnitude but opposite in sign.

OR
Find the zeroes of the polynomial f(x) = x3 — 5x? — 2x + 24 , if it is given that the product of
its two zeroes is 12.
Draw the graph of 2x + y = 6 and 2x — y + 2 = 0. Shade the region bounded by the lines and x-axis
. Find the area of the shaded region.
The radius of the incircle of a triangle is 4 cm and the segments into which one side is divided by
the point of contact are 6 cm and 8 cm. Determine the other two sides of a triangle.

OR
Two tangents TP and TQ are drawn to the circle with centre O from the external point T . Prove
that ZPTQ = 220PQ.
Draw a right triangle ABC in which AB =6 cm, BC =8 cm and £B = 90°. Draw BD
perpendicular from B on AC and draw a circle passing through the points B,C and D . Construct
tangents from A to this circle.
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PAPER -2
CLASS : X MAXIMUM MARKS : 35
SUBJECT : MATHEMATICS TIME : 1%2 HOURS
SECTION - A

1. Find the sum of first 20 terms of an A.P. in which the 3" term is 7 and 7" term is 2
more than thrice of its 3 term.

2. Show that the points (1, - 1), (5,2) and (9,5) are collinear.

3. |fStana = 4, find the value of Selnaz3cose

5sina+2cosa
OR
Evaluate : —— + —— — c0s245°
cot<30 sin“60
SECTION-B

4. The sum of 5" and 9" terms of an A.P. is 72 and the sum of 7" and 12™ terms is 97.
Find the A.P.

5. Inatrapezium ABCD, AB || DC, the diagonals intersect at O . If AO =3x-19,
BO=x-3,0C =x-5and OD = 3, find the value of x.

OR
ABC is a triangle in which AB = AC and D is a point on AC such that
BC? = AC x CD. Prove that BD = BC.

6. Anobserver 1.5 mtall is 28.5 m away from a tower. The angle of elevation of the

top of the tower from her eyes is 45° . What is the height of the tower ?
SECTION-C

7. Thesumofn, 2n, 3nterms of an A.P. are S;, S,, S5 respectively. Prove that

S; =3(S, —Sy).

OR
The ratio of the sum of m and n terms of an A.P. is m? : n2. Show that the ratio of
the m™ and n'* termsis 2m-1):(2n-1).

8. ABCD is a quadrilateral; P,Q,R and S are the points of trisection of sides AB,BC,
CD and DA respectively and are adjacent to A and C; prove that PQRS is a
parallelogram.

9. IfP(2,-1), Q(3,4), R(-2,3) and S( -3, -2) be the four points in a plane, show that
PQRS is a rhombus but not a square.

OR
Find the co-ordinates of the circumcentre of the triangle whose vertices are (8,6),
(8,-2) and (2, -2). Also , find its circum-radius.
10. prove that : S8 1+_C059 = 2cosech.
1+cos @ sin 6
11. The shadow of a vertical tower on level ground increases by 10 m ,when the
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altitude of the sun changes from angle of elevation 45° to 30° .Find the height of the
tower . ( Take V3 = 1.73)
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ONLINE MID TERM PEN PAPER ASSESSMENT
SESSION-2020-2021

CLASS-X MAXIMUM MARKS: 35
TIME: 1% HOURS

SUBJECT: SOCIAL SCIENCE PAPER-1

1 Explain any two ideas of liberal nationalists in the economic sphere.

2 State any one difference between coming together and holding together federations.

3 On the given political outline map of India, two features are marked as A and B. Identify
them with the help of the information given and write their correct names in your copy.

A- A major soil type
B - A major soil type

e

4 Why do different persons have different notions of development?
5 Why is the issue of sustainability important for development?

6 Explain the process of unification of Italy.

10

11

12

Explain the reforms brought in by Napolean in France through his Civil Code of 1804. (Any
three)

OR
How did culture play an important role in creating the idea of the ‘nation’ in Europe?
Explain any three points with examples.

“Planning is the widely accepted strategy for judicious use of resources in a country like
India”. Justify this statement with relevant points and examples.

Mention the main criterion used by the World Bank in classifying different countries.
Explain two limitations of this criterion.

OR
Give two reasons why Kerala has Low infant mortality rate. What is the advantage of the
states in which PDS functions well?

“Money in your pocket cannot buy all goods and services that you need to live well.”Justify
the statement.

Explain two forms of power sharing. ‘A major step towards decentralisation
was taken in India in1992.” Explain any three steps taken.

“The future generation may not have sufficient resources as compared to the present
generation”. Justify the issue of sustainability by giving suitable examples.

3
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MAXIMUM MARKS: 35

PAPER -l TIME: 1 %HOURS

On the outline political map of India are located two places where important events during
the nationalist movement had taken place. Identify them.

A. The place where movement by indigo planters started.
B. The place where the Congress session of 1929 was held.

Be.'

”.'A .

—

Name the national political party which gets inspiration from India’s ancient culture and
values. Mention any ONE feature of that party.

On the given map two features are marked as A and B. Identify them with the help of the
information given and write their correct names in your copy.
A Ariver valley project == —
B. Ariver valley project e |4

2

2

2

10
11

12

Explain any two reasons why the classification of economic activities into primary,
secondary and tertiary is useful.

State two ways in which employment in the rural areas can be increased?

Explain the contributions of culture, folklores and paintings in strengthening nationalism in
India during the 1870’s.

What is meant by the idea of Satyagraha? Explain in terms of the various movements that
took place in India.

OR
Why was the Poona Pact signed?

Agriculture has been the backbone of the Indian Economy’ Explain the statement by giving
reason.

Explain three reasons for the rising importance of the tertiary sector in India.

Give two examples of public sector activities and explain why the government has taken
them up.

Differentiate between organised and unorganised sectors.

Explain any two functions of the political party. State three reforms to strengthen the
working of parties.

OR
List two differences between one party and two party systems. Also state their merits and
demerits.

Enlist various institutional and technological reforms taken by the Indian Government to
bring about improvements in Indian agriculture.
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D.A.V. PUBLIC/MODEL SCHOOLS, WEST BENGAL ZONE
ONLINEMID-TERM PEN PAPER ASSESSMENT
Session: 2020-2021

CLASS: X MAXIMUM MARKS: 35
SUBJECT: English TIME: 12 HOURS
Paper-I
1. You are Raj/ Riddhi , Hostel Warden of Rainbow International School, APC 5

Street, Lane 205 Kolkata. Write a letter in about 100-120 words to the Sales
Manager of World Electronics and Domestic Appliances, JC Avenue, Kolkata,
placing order for fans, microwave ovens, coolers and LED lights for the hostel.

2.
Answer the following questions in 20-30 words each:
2x5=10
a. What do you understand by “apartheid’? How did it affect the life of
the people of South Africa?
b. Why did Lencho write the second letter to God?
c. What is the significance of the ball in “The Ball Poem’?
d. Why did Hari return to Anil finally?
e. What challenges did the pilot face in the turbulent weather?
3. Answer the following questions in 40-50 words each: 3x5=15
a. Why did the lady in the control centre look at the pilot strangely?
b. How is the life of a tiger in a concrete cell?
c. How was Anil different from other men?
d. “Money is external’- Justify the view of the poet in “The Ball Poem’.
e. How did Nelson Mandela’s idea of freedom change with age and
experience?
4. The natural world is an innate source of wisdom and inspiration. It never fails to 5

educate us. With reference to the prose, The First Flight, discuss how the
parents of the young seagull illuminate us on the skills of good parenting. (100-
120 words)
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D.A.V. PUBLIC/MODEL SCHOOLS, WEST BENGAL ZONE
ONLINE MID-TERM PEN PAPER ASSESSMENT
Session: 2020-2021

CLASS: X MAXIMUM MARKS: 35
SUBJECT: English TIME: 1 2HOURS
Paper- 11
1. In the form of pie chart, the share of underweight children under five years of age is 5
given. Write an analytical paragraph on the basis of the given information in 100-
120 words.

SHARE OF UNDERWEIGHT CHILDREN UNDER FIVE YEARS OF AGE

/— Bangladesh 5%

India 42%

§ \;
Pakistan 5% —/ Nigeria 5%

Source: UNICEF (2009b].

2. Answer the following questions in 20-30 words each: 2x5=10

a. Why did Anne call her diary “‘Kitty’?

b. ‘The silence is golden, the freedom is sweet’- Why does Amanda think
s0?

c. How was Valli’s first experience of bus ride?

d. Why did Maddie hesitate to protest against Peggy when she teased
Wanda?

e. Why were the children excited to see the baker in the morning?

3.
Answer the following questions in 40-50 words each: 3x5=15
a. How was Wanda different from the other girls of her classroom?
b. Why is Coorg compared with heaven in the prose?
c. How did a book become the turning point in Richard’s life?
d. Why does Walt Whitman want to live with animals?
e. lIs itappropriate to call little Valli ‘Madam’? Give reasons.
4. In Footprints Without Feet, the idea of invisibility is intriguing. It stirs the

imagination of the readers. Discuss with reference to the story, whether invisibility
is a boon or a bane for Griffin.(100- 120 words) 5

*hkAhkhkAhkhkkhkAkhkAhkhhhhkrhkhkhkhdhhihkrhkihihihkiikx



DAV PUBLIC / MODEL SCHOOLS, WEST BENGAL ZONE
ONLINE MID TERM PEN-PAPER ASSESSMENT
SESSION: 2020 - 21
PAPER - |

CLASS : X MAXIMUM MARKS :
SUBJECT : BENGALI TIME : 1% HOURS

L @@ a3t fAw seem fva 741
F) AfeEPeR JHa-FHd  ¥) ARG IPE I Afowe]
2. @@Er aFfe RAE %@ Fver 74

F) “@IE A FIE @Rl 8 (eEE FFAT- R RAF I A0 1@ @y
y) (CTATIOE STNE@ (¥ AF NG 93 Fobl TFBH ©f AT (2B SRE@
936 @ (@]

3. “Tfmg YR I IRHT FACEEA|"- YOS FIS (FA ONRF TeAA?

“TRIY MIARE [N I @ SO -5 SE F41

“IET AT AT JRe @ TSEA | -NFEE e [F FET F1?

“POF O (I T (ol FRAI”- P9 O FI APE (FA?
el TS TABfT TsT wIs|

AGRHHIE RAMRSENE I 27 JRAT AFM0F FOH| (T FFF O

TRET ] AEF JoR AFHe ITIF FIHA G TE MG |
FISFAET T RIS sFite 8F F9F YT A© BF IER (R

TSl 932 WO (0T @ SIS AF 9% FoANF: TAITSIeR TF
T NFS AR @A S ASIISENE AW @RS TRA Frsfer

T S RAFEFA IS @ JAHT I FAT o8 I3, (FEAS AHGA (G2
AT AT AES (I BT I I @ I9%F o &%y JT37 @6
F© M ©F 97 T [N@F $a7a 67 T, ©d TS (FTEy=T
M| TYNR TIHS I Aol 3@ I, SFACENET et ooy, w2
8 SRS MR b wwF @ HHe] @ @ 8@ oRIl a3 SR

FO0 VAP @ AE ©f (G MG U@ @@ e (FMeT S|
F) (@ ToAE TFINSTOIT TG I NHe IR [FRA]?
) TRY EFrefn SRAN I1? AWF ©F AEE FIFT 17

N o a &

35

N



el S TIBf7F TsF Wil

TSI (ST XM© FAIT WGRAT AT I AT ©RIT 6 7o Y[ HRAT
Firem| fof seld TrwFer Ak IFEE — F @® FqE? Tolq IFIF
ST FI ©RF o P30T SORA S IO - 2o, R S, onfiE
©FA| o INAT AMR AR FER WVF| I AF 2771 IR TSI
(BSeS AT Ffutefe| I TR ORE MNT e NI IFCE - ST
TG ASE, JF? Folq MM - LOEA AT AT TorT TR /F| BEF
9% FEHOA TN TR AMRT R¥(© NAF AEARNE N nfoq A -

20F FOR S wm aff|l e WAE IR JeRl IR 7y {7y FE
SR FH00 3, qgdl SuEd WE IEFOE AOT AT FE FIF3 (o -
BTET BIPN S FAe E| I AT @ 2T F| TSI AEST 03
e = AR, F IR - o) TOF AR AR We R WA AF W
FER| AT FobF 297 9% 82 (FF Fa© AR - G =@, F© G
o 2 WF 8@ 9T A I FHH (T FE @ (T3TR| ANE =@
@ =TS FSFar S o &, S ANE I FHASe| 20, A

e 34, T OF ITCTE OF T2 FE, O ...
F)TSIT §fF FERT (T2
) TSNE IE (FF FIFAIS INOT?

Ar=lG TG TABfT SaF wis|

AEFON T ST GG el @ o - 8 2! 9 o
AT® (F| ST YT AT MRA (MO JFFelF Jom &, Tge (TAFE
NG 3oyl ST (v Frafey T 8@ R W@ AN 9% SFISHATYN T,
o IRNGE e = A TR SfEME T (@ el AT RORT|
ST i 9% MY (T T TS o I, R (HAE A NI A
- ((NFF MIT FPFT AT FOT A T2 FER@ T2G2 @RI G| IR
@XF, TREANEIRE A 0@ T8 a0 - 0T 97 ST ST} NF&H

FF PR (I FRT (@R JfTOE qmEfete AR YT x| iR
I 8@ e MEfk, 29 TRE 8 Yo [Red Fa© NF - 89 (NH],

(@] SRR S| REE @ 8T Sl I, 2o qE N Fremd a6
TIF Aed q FE NFIN q AR FINEENE 3F AN FIA

F) T2 (@RI (7|7~ F=0S P @R (52
¥) ‘YOI TEfs” T (TNF I JRFA?

3k 3k >k 3k >k 3k 3k 3k %k %k %k >k >k 3k %k k k k ok sk k k ok

N

N



DAV PUBLIC / MODEL SCHOOLS, WEST BENGAL ZONE
ONLINE MID TERM PEN-PAPER ASSESSMENT
SESSION: 2020 - 21

PAPER - Il
CLASS : X MAXIMUM MARKS : 35
SUBJECT : BENGALI TIME : 1% HOURS
1 @ @ren foaf® s Soa wisl 3x3=9

F) T I6T T TIT ©9@F|”-FE, FAF, (Fq oFE@F ST IF6] &
THT? (3)

) “STT " T (T S|IFT AZW6T TWE I, T AFW Y& NI |
@, @ IAZMW & TIFA? (3)

) “OE 7 FE OE - Ty T @9 7 FE 18T T@ e ?
(3)

F) “@OIET (@ @7 3@ (o @S| ”@6[F (e @ 39 @97
(3)

2. ST JRAT (A 5
ST WO faee fofe A1 A18TMe NI o1 Fgrer|”
FAFT
JQH (NCMF (M WAGF, Y (ST SN~
3 @ @ 9f e Sew ml 23 =6

F)“NRe (@ 6T fF AT /O T8I?27- (FF ¥2& G 367 46T
8T ¥?  (3)

)99 AF6 0T AN NHE oY IFF| - ANo7 oo (Y|
(3)

ST) “TEIS (SMOT ¥ ST Gfefq PG MMIT Fely” - Fs18 (@Sl ¥ N
I FET I IE A@A? (3)



NS AT (Y ;. “CTAT S
THfAEma 94,

EEY G EE ROl EEIIE]

CIGERCIRIE]

FRE e Ie|”
AT

)" faemw T3 3936, s (2) 2X2=4
i) ¥ §& F3: "FF + W, N + Ao (2)

)T @ TRE I @] (ST 8 (@ I AfFTed F4H1)

(2) 2X3 =6

i) W2eE, FE BaEs " ma 1 (TR 8 o A AHIGA
F41) (2)

i) AN T TSR A@F AR, (FI9 [{AF M= ||
(R 8 Sfoe I AfFToq F41) (2)

*hkkkhkhkkkhkhkhkhkhkhkiikiik



DAV PUBLIC/MODEL SCHOOLS, WEST BENGAL ZONE
ONLINE MID TERM PEN PAPER ASSESSMENT
SESSION: 2020-21
PAPER-I

CLASS: X MAXIMUM MARKS: 35
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5. fArAfaf@a weat &1 3cav 35-40 Usal A fAf@v- (2x4=8)
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The given magnet is divided into three parts A, B, and C

¥
A B.C

L Name the parts where the strength of the magnetic field is:
(i) maximum (ii) minimum. How will the density of magnetic field lines differ at these parts?

A compass needle is placed near a current-carrying wire. State your observation for the following
cases, and give reason for the same in each case.
(a) Magnitude of electric current in the wire is increased.
(b) The compass needle is displaced away from the wire.
R

(a) Two magnets are lying side by side as shown below. Draw magnetic field line between poles P
and Q

S N| |5 N
P

(b) What does the degree of closeness of magnetic field lines near the poles signify?

Three acidic solution A, B and C have pH =1, 3 and 5 respectively
i) Which solution has the highest concentration of H* ions ?
ii) Which solution has the lowest concentration of H* ions ?
OR
Two solutions X and Y have pH values of 3.0 and 9.5 respectively. Which of these will turn litmus
solution from blue to red and which will turn phenolphthalein from colourless to pink?
Following figure represents an example of a food chain. Answer the questions below the figure.

(i) Which Organism constitute the first tropic level
in the given food chain? How much energy of the
sun is captured at this level?

(ii) If the amount of energy available in first tropic
level is 10 000 joule, what will be the amount of
energy available at the fourth tropic level?

List two advantages of practicing vegetative propagation in plants. Select two plants raised by this
method by the list given below: Jasmine, Gram, Pea, Rose, Tomato, Wheat.

(a) Mention the factors on which the direction of force experienced by a current-carrying conductor
placed in a magnetic field depend.

(b) Under what condition is the force experienced by a current-carrying conductor placed in a
magnetic field maximum?

(c)Name a device which is based on the principle that a current carrying conductor placed in a
magnetic field experiences a force and also write it's two applications.

1+1

10.

11.

12.

a) What will you observe ( state along with chemical equation) when dilute hydrochloric acid is added
to a small amount of copper oxide in a beaker ?
b) Aqueous solution of HCI shows acidic character. But the aqueous solution of glucose fail to do so.
Why?
¢) Why curd and sour substances not be kept in brass and copper vessels ?
a) A compound ‘X’ is a constituent of baking powder. It is used as an antacid. When X’ is heated it
gives out a Y’ which, when passed through lime water turns it milky and salt ‘Z’ is formed which is
the main constituent of washing powder. Identify X, Y and Z. Write balanced chemical equations for
the reactions involved.
b) Name the acid present in ant sting.
a) Write the chemical formula of the each of the following: i) Plaster of Paris ii) Gypsum
b) How can Plaster of Paris be converted into Gypsum?
c) List any one use of Plaster of Paris.

OR
a) Write the formula and chemical name of bleaching powder.
b) Write chemical equation to represent the action of atmospheric CO, gas on bleaching powder when
left exposed in open.
c) State for what purpose is bleaching powder used in water treatment plants.
(a)Certain chemical compounds used in refrigerants and in fire extinguisher are harmful to ozone
layer.Write the full form of compound which harm the ozone layer .How does ozone layer protect us.
b)Study the food chain in a pond in which the pesticide accumulation is found to be maximum at the
fourth tropic level. Name and explain the phenomenon responsible for it.

Observe the figure given below and answer the following questions:
(a) Write the special name given to the coil AB which has many circular turns of insulated copper
wire.

(b) State the nature of ‘F_é:.tj - W magnetic field inside

AB when a current is passed through it.

(c) Redraw the diagram and sketch the pattern of magnetic field lines through and around AB.
(d) List two factors on which the strength of the magnetic field produced by AB depends.

(e) What is the effect of placing an iron core in the coil AB?

(a) Draw a diagram showing germination of pollen on stigma of a flower.

Label pollen grain, male germ- cells, pollen tube and female germ-cell in the diagram.

(b) How is zygote formed?

OR

a) Draw a longitudinal section of a flower and label the following parts:
(i) Part that produces pollen grain.
(ii)Part that transfers male gametes to the female gametes.
(iii) Part that is sticky to trap the pollen grain.
(iv) Part that develops into a fruit.

b) Give one difference between unisexual and bisexual flower

1+1
+1
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What is meant by electric current? Name and define its Sl unit. In a conductor
electrons are flowing from B to A. What is the direction of conventional current?

a) Write two points of difference between electric energy and electric power.
b) Out of 60 W and 40 W lamps, which one has higher electrical resistance when in
use.

OR
a) An electrical fuse is rated at 2 A. What is meant by this statement?
b) An electric iron of 1 kW is operated at 220 V. Find which of the following fuses that
respectively rated at 1 A, 3 Aand 5 A can be used in it.

Write the electron dot structures of magnesium and chlorine and show the formation of
magnesium chloride by the transfer of electrons.

OR
Write the electron dot structures of sodium and oxygen and show the formation of
sodium oxide by the transfer of electrons.

a) Name the site of exchange of material between the blood and surrounding cells.
b) What would be the consequences of deficiency of haemoglobin in your body?

The following events occur during the process of photosynthesis
a) Absorption of light energy by chlorophyll.
b) Conversion of light energy to chemical energy and splitting of water molecules
into hydrogen and oxygen.
¢) Reduction of carbon dioxide to carbohydrates.

Which of the given event only need to take place during the day time for desert
plants? Give reason for your answer.

a) Find the current flowing through the following electric circuit.
3.6 €2 & 2 3L

b) State difference between the wire used in the element of an electric heater and in a
fuse wire.

A metal A which is used in thermite process when heated with oxygen gives an oxide
B, which is amphoteric in nature. Identify A and B. Write down the reactions of oxide
B with HCI and NaOH.

a) In the formation of compound XY, atoms of X lost one electron each while atoms of
Y gained one electron each. What is the nature of the bond in XY ? Predict the two
properties of XY.

b) Choose a metal from the following metals which reacts only with hot water.
Sodium, magnesium, iron. Write the balanced chemical equation for the reaction.

1+1

Yo+
+1+1
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10.

11.

12.

a) Consider the chemical equation given below and answer the questions that follow.
Heat
CuO + H,— Cu + H,0
(i) Name the Oxidizing agent and reducing agent , ( ii) What type of a reaction does
this equation represent?
b) Balance the following chemical equation:
MnOy+ Al —» Mn + AlL,O3
OR
Observe the given figure and answer the following questions.

a) Write the complete balanced equation of the above.

b) Write the type of reaction involved.

c) Is there any precipitate formed? Write the colour of the precipitate.
a) Given diagram shows a closed stomatal pore .

i) Name the cells which surround the stomatal pore .

i) What are the functions of the dot like structures in the cells.

b) What happens when water flows into these cells?

¢) What will happen to a plant if its xylem is removed?

a)Derive the expression for the heat produced due to a current 'i* flowing for a time
interval ‘t” through a resistor ‘R’ having a potential difference ‘V’ across its ends. With
which name is the relation known?
b)A torch bulb is rated 2.5 V and 750 mA. Calculate (i) its power, (ii) its resistance and
(iii) the energy consumed, if this bulb is lighted for four hours.
a) Draw a diagram of human respiratory system and label the following:
(i) part where air is filtered by fine hair and mucus
(ii) part which terminates in balloon - like structures
(iii) balloon — like structures where exchange of gases takes place.
(iv) part which separates chest cavity from abdominal cavity.
(b) Why is the rate of breathing in aquatic organisms much faster than in terrestrial
organisms?
OR
a) Draw the structure of a nephron and label the following on it:
Glomerulus, Bowman’s capsule, Renal artery, Collecting duct.
(b) What happens to glucose that enters the nephron along with filtrate?

(1+1) +1
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